Glasses
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This diagram shows three glasses (not drawn to scale). KX

\ / \
N W f
The measurements are all in centimeters. i & \ G

The volume of a cylinder = nr’h
The volume of a sphere = 4y’
3
The volume of a cone = nr’h
3

The bowl of glass 1 is cylindrical. The diameter is 5 cm and the height is 6 cm.

The bowl of glass 2 is a cylinder with a hemispherical bottom. The diameter is 6 cm and the height
of the cylinder is 3 cm.

The bowl of glass 3 is an inverted cone. The diameter is 6 cm and the slant height is 6 cm.

1. Find the vertical height of the bowl of glass 3. Show your work. / )
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2. Calculate the volume of the bo'wl of each of these glasses. Show your work.
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3. Find the height of liquid in Glass 2 when it is half full. Show your calculations.

nagnt o€ hemisphere =3 aum olready Hugd
LeT = \eigwr of Quass 2 |
ust ~2 = mdpt = 22-51 —Lig0¥ d

. —&T =\.STtT /+ WwokoM g foll SO Oﬂ\\j
e ! / " 4he sphete 1S remaind

U mr:@,l«h'(f)v oume 6€ cyhinder /
4.5 =Gh¥ ~ 3
S =ah. |
2
=5 4

& Prom Cyinder VS €
| equ als

\ =3.5

A}

misphere oM

Copyright © 2011 by Mathematics Assessment Page 5 CCR 1 ‘

Resource Service. All rights reserved. o




Glasses

§— +—8

T

O

This diagram shows three glasses (not drawn to scale).

The measurements are all in centimeters.

The volume of a cylinder = mr’h
The volume of a sphere = 4nr’
3
The volume of a cone = ar’h
3

The bowl of glass 1 is cylindrical. The diameter is 5 cm and the height is 6 cm.

The bowl of glass 2 is a cylinder with a hemispherica'l bottom. The diameter is 6 cm and the height
of the cylinder is 3 cm.

The bowl of glass 3 is an inverted cone. The diameter is 6 cm and the slant height is 6 cm.
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2. Calculate the volume of the bow! of each of these glasses. Show your work. )
a. Glass 1 Tl < , \//
T 25" b BUET o |
TT L2510 |

| p
b. Glass 2 4 = %(5:2/‘(‘\ 31(08(\—(/—’( " 4’5 4 cm’ {

Z, , | |
c. Glass3 (\I‘\’ : “r— o /
TTa- 4% RR

Y Tlan

Copyright @ 2011 by Mathematics Assessment Page 4 CCR 1
Resource Servics. All rights reserved.

1. Find the vertical height f the bowl of glass 3. Show your work. '__‘/
o




3. Find the height of liquid in Glass 2 when it is half full. Show your calculations. \ /
_ P

AN
L oE P (2)
b L o
2o A
: (o

T =
Q

Copyright © 2011 by Mathematics Assessment "~ Page 5 CCR 1
Resource Service. All rights reserved.




Glasses
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This diagram shows three glasses (not drawn to scale). ) T
The measurements are all in centimeters. 6
The volume of a cylinder = mr’h
The volume of a sphere = 47ur’
3
The volume of a cone = nir’h o
) 1 2

The bowl of glass 1 is cylindrical. The diameter is 5 cm and the height is 6 cm.

The bowl of glass 2 is a cylinder with a hemispherical bottom. The diameter is 6 cm and the height
of the cylinder is 3 cm.

The bowl of glass 3 is an inverted cone. The diameter is 6 cm and the slant height is 6 cm. /

1. Find the vertical height of the bowl of glass 3. Show your work.
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2. Calculate the volume of the bowl of each of these glasses. Show your work.
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3. Find the height of liquid in Glass 2 when it is half full. Show your calculations.
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Glasses

This diagram shows three glasses (not drawn to scale). C:D T

The measurements are all in centimeters.

The volume of a cylinder = mr’h

The volume of a sphere = 4xr’ S
3

The volume of a cone = nr’h

W

The bowl of glass 1 is cylindrical. The diameter is 5 cm and the height is 6 cm.

The bowl of glass 2 is a cylinder with a hemispherical bottom. The diameter is 6 cm and the height
of the cylinder is 3 cm.

The bowl of glass 3 is an inverted cone. The diameter is 6 cm and the slant height is 6 cm.

1. Find the vertical height of the bowl of glass 3. Show your work. /
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2. Calculate the volume of the bowl of each of these glasses. Show your work.
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| 3.Find the height of liquid in Glass 2 when it is half full. Show your calculations.
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Glasses
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This diagram shows three glasses (not drawn to scale).
The measurements are all in centimeters. ©

The volume of a cylinder = nr?h
The volume of a sphere = 4nr’
3
The volume of a cone = nir’h
3

The bowl of glass 1 is cylindrical. The diameter is 5 cm and the height is 6 cm,

The bowl of glass 2 is a cylinder with a hemispherical bottom. The diameter is 6 cm and the height
of the cylinder is 3 cm.

The bowl of glass 3 is an inverted cone. The diameter is 6 cm and the slant height is 6 cm.

1. Find the vertical height of the bowl of glass 3. Show your work. ~ ‘
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2. Calculate the volume of the bowl of each of these glasses. SQOV’V s\[our work. )
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3. Find the height of liquid in Glass 2 when it is half full. Show your calculations.

Vol. of 3’5155 245 m ﬁ%’ 522.5'7;’ > < cm
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